Insect Biodiversity At Mangrove Ecosystem

Bhagyashree Grampurohit¹ and Hemant Karkhanis²

¹Department of Environmental Science, K. J. Somaiya College of Science and Commerce, Mumbai Vidyavihar, Mumbai -400077, Ph. +91-022-28575590, Fax +91-022 28575670 ² IInd Floor, Udayachal Primary School, Vikhroli (E). Email: bhagyashreegrampurohit@gmail.com; hvk@godrej.com

Abstract : A lot of attention being paid to the study of biodiversity has led to increasing interest in assessing the diversity of insects because this group dominates terrestrial and freshwater ecosystems and are valuable indicators of the healthof these ecosystems. Presence of insects in the mangrove ecosystem is of importance because they feed, reproduce on plants and help in pollination. Certain level of natural damage caused by pest insects is of ecological significance in mangrove ecosystem. Study of insect biodiversity is useful in managing the forest resources. The study area selected for this research project is a private land owned by Godrej & Boyce Mfg.Co.Ltd located along the Eastern Express Highway at Vikhroli, Mumbai. This land is covered with mangrove forest. Total eleven sites were selected randomly so as to cover maximum area of mangrove forest. At each site, during low tide, different insects were observed and photographed. Photo-essay of these insects was prepared. Diversity index, evenness index and dominance index was calculated. As per the results, Shannon index is 0.4, Simphon's diversity index is 0.93 and evenness index is 0.1. Species richness index is 1.94. The result shows that the study location being in the industrial area of Mumbai, the insect diversity is less but there is a natural balance of damage and reproduction. The present research paper highlights the need of conservation of floral and faunal biodiversity to preserve the natural balance of the ecosystem.

Key words : Mangrove ecosystem, Insect biodiversity, diversity index, evenness index, dominance index, Godrej Company

Introduction

Mangrove conservation is very important as they are extremely productive ecosystems. Because mangroves occupy the intertidal zone, they interact strongly with aquatic, inshore, upstream and terrestrial ecosystems and in this way mangroves help to support a diverse flora and fauna of marine, freshwater and terrestrial species (Donald J. Macintosh and Elizabeth C. Ashton, 2002). Mangrove species diversity is well known for the larger animals and plants, but poorly known for micro-organisms and insects. Study of its insect biodiversity can help in determining its potential productivity and in better management of mangroves. Insects can be either harmful like pest insects which are to be managed or beneficial like honeybees which can be helpful in gaining economical productivity. They play a very important role in ecology of mangrove ecosystem. Insects, can be either permanent residents or temporary visitors of mangrove environment (Macintosh & Ashton 2002). Hence they provide linkage between mangrove ecosystem and other ecosystems. There are herbivores that feed on leaves, flowers, seeds or mangrove propagules; detritivores that eat dead wood or decaying leaves; more general foragers and predators. Some insects play crucial roles as pollinators and all in turn represent a major food source for predators. Study of insects is done to maintain an indigenous plant in a healthy state under local conditions. One needs to know what level of natural damage is normal. Insects are rarely severely damaging to a healthy host but respond rapidly to declining resistance. Significant changes may well indicate stress from pollution or

deteriorating soil or water regime, perhaps in time to take corrective action. Measures of species diversity are important, as their stability over (long) periods of time are frequently seen as indicators of the well-being of ecological systems.

In studies related to mangrove insect biodiversity, numerous butterfly and moth species have been undertaken. Termites are an important component of the fauna but little is known about them. They burrow inside the trunks and branches of mangrove trees and maybe very important in breaking down dead wood. Ants are often abundant in the mangrove tree canopy suggesting their ecological significance but again not much is known about ants. Mosquitoes are often incredibly numerous and the degree of abundance is exceptional (Macne, 1968). They are often a nuisance because of their biting of humans but also because they can be vectors of diseases such as malaria and yellow fever (Macintosh & Ashton 2002). This has often been a reason for mangroves to be regarded as wastelands. For this resource to be conserved and managed much more research is needed.

Mangroves at Godrej

Although Mangroves along the Mumbai coastline are vanishing, a stretch of 1,750 acres of mangroves preserved by the Godrej Company continues to flourish. The vast mangroves of Pirojshanagar include over 16 species of mangroves and their sub-varieties. The Soonabai Pirojsha Godrej Marine Ecology Centre and Mangrove Interpretation Center works towards caring for these mangroves. The center also conducts programmes for mangrove preservation like regular monitoring to keep a check on miscreants and protecting rare species of fauna, raising nurseries and through artificial regeneration.

Study Area: The study area selected for this research project is a private land owned by Godrej & Boyce Mfg.Co.Ltd located along the Eastern Express Highway at Vikhroli, Mumbai. This land is covered with mangrove forest that is being maintained by The Godrej for the past 65 years. The Western bank of the Thane Creek is the single largest mangrove belt in Mumbai. A substantial tract of mangrove land is adjoining the Godrej & Boyce township, Pirojshanagar, in Vikhroli a suburb of Mumbai..

Materials and methods

Mapping: GIS mapping of mangroves near Godrej area was studied and 11 locations were decided for field work to carry out the study at the periphery of mangrove patches.

Field visits: field visits were taken every day for 11 days (one day for 11Location) in summer season, at the time of low tide.

Data collection: Data collection was done by taking the photographs of insects and noting down on which plant which insect was observed.

Identification: Identification was done by using Google images and field guides such as insect in colour by N.D.Riley .GPS Location

North	East	South	West		
19º06'52.31s"N	19 ⁰ 5'08.00s''N	19º03'34.44s"N	19º05'23.05s"N		
72 ⁰ 56'32.71s"E	72 ⁰ 57'27.57s"E	72 ⁰ 56'27.78s"E	72 ⁰ 55'46.94s"E		





Insects / Site	1	2	3	4	5	6	7	8	9	10	11	n _i
Pseudococcidae(Mealy bugs)	8	3		5	10	20	5	8	5	15	5	84
Attacephalotes(Leaf cutter ant)	7	6		5	5	5	5	15	8	6		62
Luciliasericata (Metallic fly)	1							4		3		8
Muscadomestica(Housefly)	1			1			1	1	1	1	2	8
Adisegipty(Dengue mosquito)	5			4	15			3			2	29
Lasiusniger (Common blackants)	2			5								7
Camponotouspennysylvanicus (Black carpenter ant)		1				1					1	3
Apisindica(honey bee)		4		6			10		5	2		27
Xylocopaviolacea(Carpenter bee)		1		1								2
<i>Hymnoptychissordid</i> (Pneumatophore moth)								1	7	10		18
Cicadellaviridis(hopper bug)		1	1									2

Table1: Insect diversity

Result and discussion

Anisoptera (Dragonfly)		4	2			4		1		3	14
Diptera(Dipterian fly spp 1)			1		1		2				4
Diptera(Dipterian fly spp 2)						1	2			1	4
Diptera(Dipterian fly spp 3)							1	1			2
Diptera(Dipterian fly spp 4)										1	1
Diptera(Dipterian fly spp 5)										1	1
Gryllidae(Cricket)			1								1
Eristalinussyrphidae (Hoverfly)				1					1	1	3
Nabissp(Damsel bug)				1							1
Micropezidae(Ichneumon wasp)				1							1
Harmoniaaxyridis (Ladybird beetle)					1					1	2
Pseudomyrmexferrugine (Pagoda ant)	1	1	1		1	1				1	6
Formica (Wood ants)					5						5
<i>Euremahecabe</i> (Small grass yellow butterfly)						1	1				2
Phalantaphalanta (Common leopard butterfly)						1					1
Tabanidae (Horsefly)						2	1				3
Colotisamata(Small Salmonarab)			15							10	25
1. Eggs											
2. Caterpillar	10										10
3. Adult	4					1		1		5	11
Aphisfabae(Red aphids)									3		3
Xylosandruscrassiusculus	1						1		1		3
(Wood boaring beetle)											
Aleurocanthuswoglumi(Blackfly)									45		45
<i>Eumenesfraternus</i> (Potter wasp)										1	1
Lymantria (Tussock moth pupa)							1				1
Mantodea(Praying mantis)										1	1
Danauschrysippus (Plain tiger butterfly)						1					1
Chrysomelidaebruchinae								2			2

 Table 2 : Diversity indices

Insect Site	n _i	Pi= n _i /N	ln Pi	ln Pi H= Σpi*lnpi		E= H/logS	D=s/N
Pseudococcidae(Mealy bugs)	84	0.2	1.6	0.125	0.04	0.04	
Attacephalotes(Leaf cutter ant)	62	0.15	1.89	0.079365079	0.0225		
Luciliasericata (Metallic fly)	8	0.019	3.96	0.00479798	0.000361		
Muscadomestica(Housefly)	8	0.019	3.96	0.00479798	0.000361		
Adisegipty(Dengue mosquito)	29	0.07	2.65	0.026415094	0.0049		
Lasiusniger (Common blackants)	7	0.017	4.07	0.004176904	0.000289		
<i>Camponotouspennysylvanicus</i> (Black carpenter ant)	3	0.007	4.96	0.00141129	0.000049		
Apisindica(honey bee)	27	0.066	2.71	0.024354244	0.004356		
Xylocopaviolacea(Carpenter bee)	2	0.004	5.29	0.000926276	0.00002401		
<i>Hymnoptychissordid</i> (Pneumatophore moth)	18	0.04	3.21	0.012461059	0.0016		
Cicadellaviridis(hopper bug)	2	0.0049	5.29	0.000926276	0.00002401		
Anisoptera (Dragonfly)	14	0.034	3.38	0.010059172	0.001156		
Diptera(Dipterian fly spp 1)	4	0.0098	4.62	0.002121212	0.00009604		
Diptera(Dipterian fly spp 2)	4	0.0098	4.62	0.002121212	0.00009604		
Diptera(Dipterian fly spp 3)	2	0.0049	5.29	0.000926276	0.00002401		
Diptera(Dipterian fly spp 4)	1	0.0024	6.03	0.00039801	0.00000576		
Diptera(Dipterian fly spp 5)	1	0.0024	6.03	0.00039801	0.00000576		
Gryllidae(Cricket)	1	0.0024	6.03	0.00039801	0.00000576		
Eristalinussyrphidae (Hoverfly)	3	0.007	4.96	0.00141129	0.000049		
Nabissp(Damsel bug)	1	0.0024	6.03	0.00039801	0.00000576		
Micropezidae(Ichneumon wasp)	1	0.0024	6.03	0.00039801	0.00000576		
Harmoniaaxyridis (Ladybird beetle)	2	0.0049	5.29	0.000926276	0.00002401		
Pseudomyrmexferrugine (Pagoda ant)	6	0.014	4.26	0.003286385	0.000196		
Formica (Wood ants)	5	0.012	4.42	0.002714932	0.000144		
<i>Euremahecabe</i> (Small grass yellow butterfly)	2	0.0049	5.29	0.000926276	0.00002401		
Phalantaphalanta (Common leopard butterfly)	1	0.0024	6.03	0.00039801	0.00000576		
Tabanidae (Horsefly)	3	0.007	4.96	0.00141129	0.000049		
Colotisamata(Small Salmonarab) 1. Eggs	25	0.061	2.79	0.021863799	0.003721		
2. Caterpillar	10	0.024	3.72	0.006451613	0.000576		
J. Adult	2	0.027	3.01	0.007479224	0.000729		
Apprisjabae(Red aphilds) Xylosandruscrassiusculus (Wood boaringbeetle)	3	0.007	4.96	0.00141129	0.000049		

Aleurocanthuswoglumi(Blackfly)	45	0.11	2.2	0.05	0.0121		
Eumenesfraternus (Potter wasp)	1	0.0024	6.03	0.00039801	0.00000576		
Lymantria (Tussock moth pupa)	1	0.0024	6.03	0.00039801	0.00000576		
Mantodea(Praying mantis)	1	0.0049	5.29	0.000926276	0.00002401		
Danauschrysippus (Plain tiger butterfly)	1	0.0024	6.03	0.00039801	0.00000576		
Chrysomelidaebruchinae	2	0.0049	5.29	0.000926276	0.00002401		
	N=405			H= 0.40	D= 0.93	E=0.1	d=1.94

Discussions:

- 1. Shannon index (H) is a measure of diversity of community. According to the calculations, Shannon index is equal to 0.4. This shows that insect community is less diverse. During field visits, similar types of insects were found at each location.
- 2. Simpson's dominance index (D) provides measure of diversity which takes into account both richness and evenness. Simpson's Index (D) is an index of dominance whose maximum value is one which is obtained in case of single species dominating a given area. Near zero values are obtained when numerous species are present (no dominance). Here, Relative abundance of Mealy bugs is 0.2 (which is maximum) followed by that of leaf cutter. For most of the species relative abundance is less than 0.05. This shows that mealy bugs were dominant and most of the trees are infested by it.
- 3. Eveness index (E) provides information about distribution i. e. whether the distribution is patchy or even. It is a measure of relative abundance of the



different species making up the richness of an area. According to the results that are obtained, evenness index is equal to 0.1.

This shows that distribution is not even. At one site (site 3), there was not a single insect. While at station 10 there were maximum population of insects. Here, black citrus flies (45 in number) were maximum in numbers which were not found previously on any station.

4. Species richness index (d) shows high diversity of species. Richness is a measure of different kind of organisms present in a particular area. Species richness is found to be 1.94. That means, species are rich in diversity. Many pest insects were found in this mangrove ecosystem. Mealy bugs were the most dominant species. At one sites (Canal site) almost whole plant of apple mangrove was affected by mealy bug. There were many bumble bees, honey bees and dipterian flies which are required for pollination. Most affected plant was *Salvadora persica*.

Plantwise distribution of insects





Conclusion

113 species of insects were recorded from Muthupet mangroves. Insects belonging to 11 families of Lepidoptera and 14 families of Coleoptera were dominant (Rahaman, 2002) Season in which these observations are taken is not stated in the research paper. Dominance of Lepidopterans was also observed in Pichavaram mangroves, <u>Cuddalore</u> <u>District, Tamil Nadu</u> (Senthil, 1992).

Most abundant insects in the salt marsh are the Dipteraand Homoptera, Coleoptera, Orthoptera, Lepidoptera, Hemiptera, Hymenoptera, and Odonata respectively.

According to the species richness index, the diversity is also good. However, Mangrove ecosystem of Godrej Company is protected from human interference in naturally maintained ecosystem. This mangrove ecosystem has pest species as well as beneficial species. Therefore we can say that there is a natural balance of damage and reproduction. But being in the industrial area of Godrej, there are chances of pollution. Also, there are dumping grounds in Kanjurmarg area which are nearer to jetty area (site showing least insect number). This may be the cause of water pollution which ultimately pollutes the soil and affects growth of insect species.

We sampled the area for the period of less than one month during summer season. We feel that our visits were less as compared to those required for insect diversity studies. Rainy season is considered as best season for insect study. Therefore there is a possibility of getting more diversity of insect if the study is done during the monsoon season and study time is increased.

Insect diversity in mangrove ecosystem is difficult to undertake because of the marshy conditions as well as there are several reasons for getting low insect biodiversity.

Only few insects have been able to invade habitats characterized by high salinities or tidal influences (Merrit and Cummins 1996), both of which are typical of salt

Site wise distribution of insects



marshes. Two common explanations include inability to deal with the high osmoregulatory stress and competition with other invertebrates.

Suggestions and recommendations

Following things can be done to protect biodiversity:

- 1. Amateurs can help also by telling non-entomologists how important it is to conserve insect habitats throughout the landscape.
- 2. Nature Trails can be arranged specially for showing insect biodiversity.
- 3. Further study needed to be done on insect biodiversity for a longer period of time.

Acknowledgement

I am extremely thankful to Mr. Hemant Karkhanis, my guide and mentor at Godrej Mangrove Centre and Godrej group for providing me this opportunity of working with them. I would like to express my deepest gratitude to my advisor, Dr. Sanjay Joshi, Faculty, Dept of Environmental Science, K. J. Somaiya College of Science and Commerce, Vidyavihar, Mumbai, for his excellent guidance, caring, patience, and providing me with an excellent atmosphere for doing research.

I would also like to thank Dr. Sugandha Shetye, Course Co-ordinator, Dept of Environmental Science, K. J. Somaiya College of Science and Commerce, Vidyavihar, Mumbai and Dr. Elizabeth Abba, Faculty, Dept of Environmental Science, K. J. Somaiya College of Science and Commerce, Vidyavihar, Mumbai, for guiding me for the past several years and helping me to develop my background knowledge in the subject of biodiversity. I would never have been able to complete my dissertation without help and support from my friends and from my family.

References

1. A.H. Dye;16 May 2006;Volume 62; marine environmental research; Persistent eects of physical disturbance on meiobenthos in mangrove sediments;pp.341-355

http://www.sciencedirect.com/science/article/pii/ S0141113606001413 (Accessed on 26/8/2013)

 Abdul. A. Rahaman; March 24-26, 2002;National Seminar on Conservation of Eastern Ghats; Mangrove insect fauna of Muthupet, Tamilnadu http://wasterecycleinfo.com/images/randd/mangroves/

Mangrove%20insec.pdf (Accessed on 26/8/2013)

3. Andrea C. Alfaro, Franc, ois Thomas, Luce Sergent, Mark Duxbury; 22 August 2006; Volume 70; Estuarine, Coastal and Shelf Science; Identication of trophic interactions within an estuarine food web (northern New Zealand) using fatty acid biomarkers and stable isotopes; pp. 271-286

www.elsevier.com/locate/ecss (Accessed on 26/8/2013)

 Cecilia M. Holmlund , Monica Hammer; 1999; Volume 29; Ecological Economics; Ecosystem services generated by sh populations; pp.253–268

http://www3.carleton.ca/fecpl/courses/ESS.pdf (Accessed on 28/8/2013)

5. Curtis Petzoldt , Abby Seaman; Climate Change and Agriculture: Promoting Practical and Profitable Responses; Climate Change Effects on Insects and Pathogens

http://www.climateandfarming.org/pdfs/FactSheets/ III.2Insects.Pathogens.pdf (Accessed on 28/8/2013)

6. H.V. Danks;1996; Document series no. 5;Biological Survey of Canada (Terrestrial Arthropods);How to assess insect biodiversity without wasting your time

http://www.biology.ualberta.ca/bsc/pdf/ howtoassessinsectbiodiversity.pdf (Accessed on 28/8/2013)

 Hoang Thi Ha, Carlos M. Duarte, Nguyen Hoang Tri, Jorge Terrados, Jens Borum;31 March 2003;Volume 58;Estuarine, Coastal and Shelf Science; Growth and population dynamics during early stages of the mangrove Kandeliacandel in Halong Bay, North Viet Nam;pp.435–444

http://www.eurosfaire.prd.fr/7pc/doc/ 1231168131_fisheries_catalogue_en.pdf (Accessed on 28/8/2013)

 Hoang Thi Ha, Carlos M. Duarte, Nguyen Hoang Tri,JorgeTerrados, Jens Borum; 31 March 2003;Volume 58; Estuarine, Coastal and Shelf Science; Growth and population dynamics during early stages of the mangrove Kandeliacandel in Halong Bay, North Viet Nam;pp. 435–444

http://www.sciencedirect.com/science/article/pii/ S0272771403001094 (Accessed on 28/8/2013)

9. ILKA C. FELLER, MARSHA SITNIK; Mangrove ecology: A Field Manual Focused on the Biocomplexity on Mangrove Ecosystems

http://www.reefball.com/reefballcoalition/mangrovestuff/ Manual%20(2).pdf (Accessed on 28/8/2013)

10. <u>lrm.nt.gov.au</u>

Mangrove management in northern territory; Mangrove ecosystem

http://lrm.nt.gov.au/__data/assets/pdf_file/0004/10399/ 2_mangrove_ecosystem.pdf (Accessed on 28/8/2013)

 Ivan Valiela, Deborah Rutecki, Sophia Fox;1 December 2003;Volume 300;Journal of Experimental Marine Biology and Ecology; Salt marshes: biological controls of food webs in a diminishing environment;pp.31 – 159

www.sciencedirect.com/science/journal/00220981/300 (Accessed on 26/8/2013)

 J. Reese Voshell; 2009; Virginia Cooperative extension; Sustaining America's Aquatic Biodiversity Aquatic Insect Biodiversity and Conservation; pp.1-8

http://pubs.ext.vt.edu/420/420-531/420-531_pdf.pdf (Accessed on 28/8/2013)

 Jennifer B. Hughes, Gretchen C. Daily, Paul R. Enrich; Dec 2000; Volume 14;No.6;conservation Biology; conservation of insect diversity: A habitat approach;1788-1797

http://www.stanford.edu/group/CCB/cgibin/ccb/sites/ d_e_f_a_u_l_t_/_f_i_l_e_s_/_f_i_l_e_s_/ 2000_Hughesetal_conservationinsectdiversity.pdf (Accessed on 28/8/2013)

 K. Balasubramanyan*, Prof. M. Srinivasan and Prof. K. Kathiresan; Insects

http://ocw.unu.edu/international-network-on-waterenvironment-and-health/unu-inweh-course-1mangroves/Insects.pdf (Accessed on 28/8/2013)

15. K.Kathiresan;1 October 2002;Volume 32 (3); Indian Journal of Marine Sciences;Insectfolivory in mangroves;pp.237-239

http://nopr.niscair.res.in/bitstream/123456789/4273/1/ IJMS%2032(3)%20237-239.pdf (Accessed on 28/8/2013)

 Kevin N. Laland, Neeltje J. Boogert; 7 December 2008; Volume 69; Ecological economics; Niche construction, co-evolution and biodiversity; pp.731 – 736 http://www.sciencedirect.com/science/journal/ 09218009/69/4 (Accessed on 28/8/2013)

 Luke M. Brander , Alfred J. Wagtendonk, Salman S. Hussainc, Alistair McVittie,Peter H. Verburg , Rudolf S. de Groot , Sander van der Ploe;31 July 2012;Volume 1; Ecosystem Services; Ecosystem service values for mangroves in Southeast Asia:A meta-analysis and value transfer application;pp. 62-69

http://www.sciencedirect.com/science/journal/ 22120416/1 (Accessed on 26/8/2013)

 M.L. Martíneza, A. Intralawana, G. Vázquezb, O. Pérez-Maqueoa, P. Suttond, R. Landgrave; 25 January 2007; Volume 63; Ecological Economics; The coasts of our world: Ecological, economic and social importance; pp. 254-272

http://urizengeography.nsm.du.edu/~psutton/ AAA_Sutton_WebPage/Sutton/Publications/ Sut_Pub_16.pdf (Accessed on 26/8/2013)

 Marleen De Troch , Dirk Van Gansbeke, Magda Vincx;26 May 2005; Volume 61; Marine Environmental research; Resource availability and meiofauna in sediment of tropical seagrass beds: Local versus global trends;pp. 59-73

www.elsevier.com/locate/marenvrev (Accessed on 26/8/2013)

 N.J. Beaumont, M.C. Austen, J.P. Atkins, D. Burdon, S. Degraer, T.P. Dentinho, S.Derou, P. Holm, T. Horton, E. van Ierland, A.H. Marboe, D.J. Starkey, M. Townsend, T.Zarzycki;2007; Volume 54;Marine Pollution Bulletin; Identication, denition and quantication of goods and services provided by marine biodiversity: Implications for the ecosystem approach;pp.253-265

www.vliz.be/imisdocs/publications/118829.pdf (Accessed on 26/8/2013)

 R.M.Sharma, P.V.Joshi, Mahesh Shindikar;13 January 2002; Volume 18(10); Zoos' print journal; First report on plant galls (zoocecidia) from mangrove swamps of vikhroli, Maharashtra; pp. 1217-1219

http://www.zoosprint.org/ZooPrintJournal/2003/ October/1217-1219.pdf (Accessed on 28/8/2013) 22. Sigmund Hagvar;4 July 1997;Volume 9;Applied Soil Ecology; The relevance of the Rio-Convention on biodiversity to conserving the biodiversity of soils; pp.1-7

https://www.amherst.edu/system/files/media/0119/ hagvar%25201998.pdf (Accessed on 26/8/2013)

23. WahizatulAfzanAzmi*, Roziah Ghazi & Nor Zalipah Mohamed; 2012; volume 41 (9); SainsMalaysiana; Importance of Carpenter Bee, Xylocopavaripuncta (Hymenoptera: Apidae) as Pollination Agent for Mangrove Community of Setiu Wetlands, Terengganu, Malaysia;pp 1057–1062

http://www.ukm.my/jsm/pdf_files/SM-PDF-41-9-2012/ 01%20Wahizatul%20Afzan.pdf (Accessed on 25/8/2013)

24. Xuan Wang , Weiqi Chena, Luoping Zhang ,Di Jinc, ChangyiLua; 8 August 2010; Volume 69;Ecological Economics; Estimating the ecosystem service losses from proposed land reclamation projects: A case study in Xiamen; pp. 2549–2556

www.elsevie.com/locate/ecolecon (Accessed on 25/8/2013)

25. Y. Schaeffer-Novellia,, G. Cintron-Molero, M.L.G. Soares, T. De-Rosa; 2000; volume 3; Aquatic Ecosystem Health and Management; Brazilian mangroves;pp.561-570

www.sciencedirect.com/science/article/pii/ S146349880000052X (Accessed on 26/8/2013)

26. <u>www.agriculture.gov.sk.ca</u>; A guide to crop protection; Economic threshold of pests; May 2010

http://www.agriculture.gov.sk.ca/ Default.aspx?DN=a4d74761-d683-4e68-8c5e-60f592bc4ee8(Accessed on 28/8/2013)

27. <u>http://www.aabe.sakura.ne.jp;</u> Pragrom Prayoonrat;2004;Volume 2; Asian journal of biology education; Dipteran Fauna in Thai Mangrove Forest; A survey of insects in the mangrove forest at the mouth of the bangpakong river in Thailand<u>http://</u> www.aabe.sakura.ne.jp/Journal/Papers/Vol2/ 10%20Prayoonrat.pdf (Accessed on 26/8/2013)